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H27 |He8 [H29 [H30 [H31

A02-001 N=2 ] 54
A02-002 L=28m u 72
A02-003 -5.5m L=118.5m u 69
A02-004 L=14m ] 12
A02-005 -5.5m L=154.2m u 105
A02-006 L=28m ] 27

0000148027




H27 |He8 [H29 [H30 [H31

A02-007 -10m 24 "= 42
A02-008 -8.0m 15 ] 39
A02-009 -4.0m 37 "= 18
A02-010 ] 18
A02-011 ] 9
A02-012 "= 36

0000148027




H27 |He8 [H29 [H30 [H31

A02-013 ] 6
A02-014 ] 3
A02-015 L=81m u 47
A02-016 L=150m u 86
A02-017 1 -13m ] 12
A02-018 2 -10m L=230m u 30
N=6
| L] |
3 0000148027




H27 |He8 [H29 [H30 [H31

A02-019 L=33m ] 9
A02-021 L=140m ] 6
A02-022 L=28m ] 27
I )
I T

0000148027




H27 |He8 [H29 [H30 [H31

A02-024 L=112m [ I B 178
A02-025 L=40m ] 24
A02-026 L=12m [ I B 96
A02-027 -5m L=136m [ I B 96
A02-028 -13m N=6 [ I B 102
A02-029 3 -10m L=200m ] 12
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H27 |He8 [H29 [H30 [H31

£A02-030 L=40m . 9

£02-031 . 18

£02-032 ~10.0m L=235m | n|m|m 79
RN 614 | |

A09-033 | . | | | | 18 | |
RN 18 | |

£02-034 L=120m N 743

0000148027




H27 |He8 [H29 [H30 [H31

A02-035 L=100m ] 18

A02-036 12 -4.5m L=94m ] 33
26

A02-037 L=485m ] 12

A02-038 -7.5m V=31,000m3 "= 90

A02-039 N=3 "= 147

A02-040 1 L=4,332m "= 108

0000148027




H27 |He8 [H29 [H30 [H31

A02-041 13 L=5,789m "= 102
A02-042 -2m L=50m ] 9
A02-043 L=252m ] 12
A02-044 L=2,287m ] 15
A02-045 L=1,479m ] 6
A02-046 -10m V=84,150m3 LI B 220

0000148027




H27 |He8 [H29 [H30 [H31

A02-047 L=477m ] 12

A02-048 -7.5m V=110,000m3 LI B 251

A02-049 L=636m ] 12

A02-050 -11m L=470m ] 30
1

A02-051 -10m L=185m LI B 40

A02-052 -8m L=145m LI B 39

0000148027




H27 |He8 [H29 [H30 [H31

A02-053 L=1,000m ] 100
A02-054 ] 30
A02-055 11m V=24,100m3 ] 99
A02-056 L=10,000m ] 78
A02-057 L=712m ] 12
A02-058 2m L=100m ] 9
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H27 |He8 [H29 [H30 [H31

A02-059

-2m

L=239m

N=46

201

2,428 |

A09-060

410

410 |

A02-061

-9m

A=1,500m2

48

48|

4,457 |
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H27 H28 H29
) 100 232 62

) 0 0 0

(c=a+b) 100 232 62
(d) 4 40 160

) 101 112 203

() 40 160 19

0 0 0

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 0 0 0
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0000148027



